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The field of operstions management is shaped by advances in
which of the following fields? .

industrial sigineering and managgment science

biclogy and anslory

information sciences

all of the above
asgembly drawing
shews, in schematic Froms, how Lhe praduct is assembled.
shows an ¢xploded view of the prodact
lists the operations, including assembly and inspection,

DEPEEROFEPE

necegsary to produce the.componcnls with the material t1.

specified in the bill-of-material.
D, provides defailed instruitions on how te perform 2 given
task.
E. deseribes the dimensions and finish of each companents
A praduction line is 1o be designed for a product whose
completion requires 21 minutes of work, The-factory warks

400 minutes per day. Can an aszenbly line with five 12.

worksiations make 10 per units per day?

A, yes, with exactly 180 minuies to spare

B. no, il will fall short evan with a perfectly batanced line
. no, but four workstations would be sufficient

0.  yes, butthe line's sfficizncy {5 very low

E.  cannot be determined feom the information given . 13.
Wwhich of the following smoothing censtants wauld make an
exponential smoothing Forecast equivalent to anaive forecast?
A0

B. | divided by the number of peiiods

C. 5

D 10

E. cannotbe detcrmmcd

The MPS calls for 50 units of Pmduct A and 60 of B. There
ars currently 25 of Prodoct B on hand. Bach A requices 2 of
Part C; cach B roquires 5 of C, There are 160 undts of C
available, The net requircments for C ars

115

125

S0
ELL

r:!;aﬂp‘scmcc layout
groups workers, their equipment, and spaces/offices to
pravide for movement of informatien
addresses the layoul requirements of large; bulky projeets
such as ships and buildings
seeks the best personnel and machine utdization it
repetitive or continuous production
aflocates shell space and responds to cuskomer bebavior
deals with low-volume, high-variely production
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Which oneaf the followitg is not 2 banefit of the 15

implementatién of JIT

_¢ast reduction
work, in process reduaction
quality irnprovement
delay reduction
variability increase

MEO®E

-

thers is no physical ceunl :}f inveniory items when i
item is wilhdrawn

no invenriory records are requirsd

orders usually are Tor smaller order qua.ntmcs

_ the average inventory level is reduced

the supplier will be mate copperative

mpo

AR gcceptance sampling pian's ability to diseriminate between i7.

tow guelity lots and high quality lots is described by

chemistry and physics 10,

240 14.

n advantage of the fixed-penod invensory system is that’ 16,
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a Gantt chart

an Operating Characterisiics turve

the Central Limit Theoremn
'8 process centrol chart

arange chart -
Dnu of the major advaniapes of process- oncnle.d leyouts iz

L

* A. high equipment vtilization

b. large work-in-progess inventorles

C. smooth and continuous flow of work

D, flexibility in cquipment and Iabur a.aslgnmml

E. none of the above

Acceptance sampling is usually used to cahtrol

A. incoming lots of purchased products

B, the nuntber of units utput from one stage of 2 process
swhich are then sent to the next stage

. the number of units deliversd to the customer
0. the quality of work-in-process inventary

E. noneofthe above

Pareta charts ar¢ used 1o

tdentify inspecticn points in a process
* prganize emors, problems or defects
ontling preduction schedules
show an essembly sequence
none of the shove ’
Whlch of the following statéments regarding Materiat
Requirements Planning is true
A.  the MRP process requites three inpuis: the bills of
maierials, the inveatery records, .and the eggregate
producticn scheduls
B. ahill of materials ligts all components, ingredients, and
tnaterials needed to produce one unit of an item
C. low-level coding is appropriate when the same part 15
vsed at roore than one plece in the product struclure
diagram (of coe or mare products)
Ir. pross requirements at one [evel generate the gross
requiramisnts at the next lower level
E. inMRP, a "bucket” refers Lo a fixed order quantity, such
as an BOQ
Which of the following statements is true
A, the person most responsible for initiating use of
interchangeable parts in manufzctering was Bli Whitney
B, the origing of management by exception ane generally
credited to Frederick W, Taylor
C. the person most responsible for indtiating use of
interchangeable parts in manufacturing was David
Whitwam
D. ke crigins of the scicntific management movement are
. genetally crediled ta James Taylor
E. the person mest responsible for initiating vse of
fnterchangeable parts in manufecturing was Henry Ford
Which one of the following is a charactmstm of a T
y-rinership?
A large number of suppliers
B. steady output rate
C.  maxime! product specifications imposed on supplier
0. aclive pursueil of vertical integration
E. frequent deliveries in large bot quantities
The implementation of )T offers several agvantages, including
A&, reduced Ihroughput
B.  decreased profit marging
€. increase in viriability to better respond to variable
demand

moows

"D rework reduction

E. wark-in=process increases
A job shap is an example of a[n}
A, repetitive process
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B. intermittent process

C conbindus process

0. Jine progess

E. specialized process

Which of Lthe foliowing s the term wsed for medium renge
capacity planning wuh a time horizen of thiee to eighteen
months?

A, materizl requitcments planning

B. shortt cenge planning

C. apgrsgats plenning

D. strategic planning

E. nome of the abovs

The percent of variation in the dependent variable that is
explained by the regression equation is measured by the

A, mean absolute devinlion

B. cocfficient of detcrmination
. slope

.  correlation coefficicot

E. intercepl )

¥hich of the fallowing is nota step in the forecasting process
A. determine the purposs

B. <¢himinate any agsumptions

. establish & time horizon

D select a forecasting modek

E. implement the result

A production linz i3 to be designed {o make 500 El-More dolls
per day. Each doll requires 11 ectivities totgling 16 minutes of
wark. The faciory operates 1000 minutes per day. The degired
cyels time for this assembiy line is

A.- ons-half minute

B. ' o minutes

C. 3,000 minuies

o 5,500 minutes

E.  cannol be detcrmingd

The pxiension af MRF which exlends 1o resources such as
labor hours and machine howss, as well 25 o order entry,

purchasing, and direst imerface with customers and suppiiers is

MRF I .

the master production schedule

clased-loop MRP

Enlcrprist Resource Planning

not yet technically possibic

Re::lucnc—n of in-transit invenlony can be shcouraped throagh
usgof

A, low sehip costs

B. low camrying cosls

C. use of reins, not irucks

Ix.  sopplier location near plants

E. low-cost, giobal supplicrs

Effactive capavity is

A the maximum output of a sysiem in a given perind

B, the pereent of design capacity sctually expeocted

C. thenverage output that can be achieved under ideal
o

U R T

conditiens
a measare of the minimum usable capacity of o particular
. facifity -
E. noneofthe above
Forecasts

A btcome more aceurate with longer time horizons
B. are more accurate for individueal iterms then for groups of
items
are rarely perfect
all of the above
none of the above
i:rlil of materialg lists
the productian schedules for 2li products
the components, ingredients, and materals reynired 1o
praduee an flem
the operations reguired to prodoee an iter
the components, Ingredients, matetiels and assembly
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operations required to produce an item

F. the times nesded 10 perform =l phases of product
A guality circle holds s brainstorming sesston and attempts to
identify the Tactors respongible for fiaws is a product. Which
ool do you sugpcest they uss to organize their indings?
A. lshikawa dizgram
B. Pareto chart
.. process chart
. coalel chars
E. activity chan
Th:. Acatemic Computing Center has five trainers available in

! computer labs to provide Iraining sessions 1o students.
Assume that the cepacity of the sysitrm 13 1800 students and
the utilization is 90 percent. If the nimber of students who

_actually got their arientation sezslon Is 1500, what is the
‘elficiency of the system?

A 924

B. 1620 studepts

C. 1350 students

D, %0%

E.  T5%

Charneteristics of JIT partnerships with cespect to quantities

include

A. shori-term eontracts to ensure flexibillty

B. vaffable output rate -

C. supplizrs package in variable quantities to meet exactly
. the cistomers' production requlmments

.. suppliers defermine the quantities te be delivered besed

_ ontheir own prodoction schedules

E. suppliers inerease production. lot sizes in order to achiave
economies of scale

The nomnal application of a p-chart Is in

A, process sampling by variables -

B, scceplance sampling by variables

C. process gampling by abiributes

T.  acccplance sampling by attribules

E.  nong of the

Which of the following is truwe regarding opportunities to

Imprové gérvice proctssss?

A, layout is of little consequence, since servicos seldom use
an assembly ling

B. ifa work force 15 stromgly commilted, it nead not be
crogs-lrained and flexible

C. autemation can dve little to improve service processes,
because services are sa personal

‘1. all of the shove are true

E. aoneof the above are tae
Asgignable causes
A ars canses of variafion that can be identified and removed
B. are not as important as natural causes
C. are within the limits of a control chest
D). depend on the inspector assigned to the job
E. areslso referved 1o as "chance” causes
What is the appraximate forecast for May using a Four-month
maving average? o
Maov. Prec, Jan. Feb. ©~ Man Agpril

3 36 40 38 43 15 -
A 38 _
B.' 41

C. 42

D. 43

L4

T

i s st basic inventory questaons answercd by the
wypical inveniery model are .

A. timing end cost of orders

queniity 2nd cost of orders

timing and gquantity of orders

prder quantity and service ievel

ordering cost and carrying cost

moow
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‘Which of the fellowing aggregate plarning methods minimizes
the total costs of demand oplion variables using nonlincar cost
- curves? .
linear proErammiming
manapement coefficients mode!
simulation
Iinear decision rule
. charing methed
Which of the following statemenis abowt the basic 00 mode
i3 irue
A, I the ordering cosi were to double, the EOQ would rise
B. If annual demand were to double, the EQQ would
inceease .
C. If the camying cost were Lo Increase, the EOQ would fail
D, Ifannual demind were to double, both the EGQ and the
number of orders per year would increase
E Al of the above staleinenis are lrue
The fixed-position layout would be most approprizie in which
- of the fellowing cascs !
A. constructing & Bocing 777
8. afast fogd restaurant
. adostor's office
I} agoutmet restaurant
£. none of the above
Apgregate planning for service fimmas with high-volume
tangible output is directed toward
A, yield management ’
B. . centralized purchasing
£ decreasing the demand vate Juring peak periods
D). planning for human cesource requircments and managing
demand
E.  stmoothing the proguction rate
Froductivity measurement is complicated by
A.  the competition’s culput
B. the Fact thal precise units of measure are often upavailahle
C.  stble quality
D, the workforce size
E. the lype of equipment uscd
The usuai purpase of an R-chart is to signal whether
A. @ gainor loss in uniformily has sccurred
B. therc has been a change in the percent defective ina
sample
C. there has been a change in the central lendensy of the
process output
D. there fras been 2 change in the aumber of defects in a
E

Mmoo R

sample .
there has been a change in the AQQ
According te the manufacturing-based definition of quality,
quality is the degree of sxcellence at an sceeptable price
and the controf of varizbility al an accepiabic cost
B. quality depends on how weli tle produci fits patterns of
consumer preferences : ;
¢, quality is the degree to which a specific product conforms
to standasds .
I even though quality cannot be defined, you krorw what it
]
E. quality lies in the eyes of the behalder
A big advantage of a process-oriented layout is
A
B
c
)
E

3=

its low cost
its flexibility for variety
the simplified schedaling problem preseated by this
layout strategy
the ability to employ low-skilied iabor
. “its high equipment ulilization
The relationship between the average ouigoing quality (AOQ)
and the true percent defective is such that
AQQ > true percent defective.
A0 = lrue pereend defective.
ADQ < e pereent defeetive,
{here is no retationship between AQQ and true pereent

UoREr
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defective.

E. the relationship between these two paramelers depends on
the type of preduct,

A product whose EO( is 40 expericnces a decrease in ordering

cost from $90 per order o $10. The revised EQT is

A. threelimes aslarge

B. onc-third as large

C. nine limes as large

3. one-ninth as large

E. canaot be determined

Which of the fellowing is trus regarding the impact of

information seiences on service opezations

A. automnatic identification systems, such as bar codes, aflow

_aperalions data ta be captited without workers keying in

data

B. :management information systems provide much of the
control informatiot: for a firm

C.  the 'nternet has became 2 souzce of technical information
for customers as well as companies

L% expert systems mimic human logic to solve problems

* much as human experts would
£ all of the above
The major problem addressed by the fizxed-position layout

strategy i3
A, the movement of materiel 10 the [imited storage areas
around the site

B. minimizing difficuliies caused by material flow varying
with sach product

. ilocating werkers requiring frequent conlact close to one
another

D. the provision of low-cost starage with low-cost material
handiing ]

E.  balancing praduct flow from one wark station to the next

Which al the following stafements regarding Material

Requirements Planning is true

A. although the concepis behind MRP are complicated, ik
exscution can be simple .

B, while MRP is the most detailed and short range of the
varios levels of planning, it provides feodback 10 the
production plan, which is meditm range

C. independent demand items have their demand derived
From the demand For some other item

I independent demand iterns tend to heve less sraooth
demnand patterns then dependent demand items

E. MRP is generally practiced on items with independent
demand )

Demand for a given item is said to be dependent if

A. il originates From the exiernal cuslomer

B. there is 2 clearly identifiable parent

. there isa decp bill of materials

D). the finished products are mostly services {rather than
goods}

E. theitem has several children

Producer's risk is the probability of

A.  accepling 2 good ot
B. rejecting abadiot -
. agoeepting a bad 1ot
D. rejecling a good ot
E. none of the above

Which of the following stalements about she basic EQ model

is false

A if annual demand were to increase, the EQQ woald
increase |

B. if the ordering cost were 1o increase, the EOQ would rise

C. ifannual demand weee o double, the EOQ would also
double

T, if the setup cost were 1o decrease, the EOQ would fall

E. all of the above statements ate false ’
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